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—. Johanna has just returned from a conference on performance appraisal methods. It was an!

L1

interesting conference and one that was needed. Johanna knew that the company method ofi
evaluating employees needed some drastic revision. The current method is to have the immediate§
supervisor write out an evaluation of each individual employee. The method was time—consumingé
for the supervisors, and as much a test of their writing skills as it was an evaluation of
performance. Johanna was leaning toward three choices. The first choice involved one of the,E
oldest and most popular performance appraisals. This involved listing a set of performance factorsg
such as quantity of work, quality of work, cooperation, etc. and then rating each factor on ang
incremental scale. The second choice involved a system that would focus on specific andé
measurable job behaviors. The third choice was very results-oriented and used extensively With§

managers and professional employees.

What is the current performance appraisal method being used?

a. written essay b. graphic rating scales ¢. BARS d. MBO

. 2 What is the name of Johanna's first choice?

a. writtenessay b. graphicrating scales c. BARS d. MBO

3. What would be the primary advantage of using the first choice?

a. richexample of behaviorally based data b.  provide quantitative data

c. focuses on end goals d.  compares employees with one another
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5 What is the third choice that Johanna 1s considering?

_ Which team role will Jim effectively play?

_ 'Which team role will Ruby play?

_ What role needs to be fulfilled in order to enable Jim and Ruby to effectively work together?

_ Shane is well suited to the team role of

4.Johanna's second choice is the critical incident method. What would be the major disadvantage of

this method? ‘
a2 time consuming and lack of quantification b.  depends on evaluator's writing skills
c. unwieldy with large numbers of employees  d. provides information on only critical

behaviors that foster ineffective job performance

a. wrilten essay b.  graphic rating scales ¢. BARS d. MBO

~ +Sarah has just returned from a seminar dealing with the research of Margerison and McCann where';

the roles of work team members was discussed. She is enthusiastic as she sets down to sclect:'
members for the new team she is developing. Hopefully Sarah can avoid some problems of past
teams by selecting individuals to fill the roles needed by the work team. Jim comes 10 mmd
immediately. He is one of the most imaginative people Sarah knows. He continuously comes up
with new and novel ideas; however, he is very independent and likes to work at his own pace

Ruby, on the other hand, has an extreme concern for following policies and rules. She is excellent-
at examining details and making sure all the facts and figures will work. Putting those two
together on a team, though, may pose some interpersonal problems since they are so d1fferent
Then there is Shane. He always has such strong convictions about how things should be done
However, he will protect the group from outsiders and go to battle for them. He will help pr0v1de
team stability.

a. linker b. creator-innovator c. controller-inspector d. reporter-advisor !

a. linker b. creator-innovator  C. controller-inspector d. reporter-advisor

a. linker b. assessor-developer c. controller-inspector d. reporter-advisor

a. upholder-maintainer. b. assessor-developer. c¢.  controller-inspector.

d. reporter-advisor. -

_ ‘Which role is the most important to have filled in order for the team to be effective? :

a. linker b. concluder-producer c upholder-maintainer
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